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Nahar Wﬂlillf'e Sﬂﬂﬂuar}r iS Sitllﬂf.ﬂﬂ il'l Whi{:h
district of Haryana ?

(1) Mahendragarh
{2) Faridabad

(3) Rewari :
(4) Nuh(Mewat)
(5) Not attempted

When was the Haryana Public
Commission established 7

(1) 1968
(2} 1965
(3) 1966
(4) 1967
(5) Mot attempted

Service

Who is the first Lokayukta of Haryana ?
(1) Babu Parmanand
i2) Ranjeet Kumar
(3) Nawal Kishore Agarwal
(4) Pritam Pal
(5 Not attempted

Panjokhra Qahib Gurudwara | Ambalal i
dedicated to the memoryof __————-

(1) GuruSn Harkishan Sahib i

2y Guru Hargobind

(3) Guru Tegh Bahadur

(4) Guru Gobind Singh

(50 Not attempted

The East longitude extent of Haryana is

(1) T71°28' 10 77°36"
(2)
(3
(4)
(5)

70°28" to 77736

o0 78" to 77365

77098 to 84°38

Not attempted
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e fHa sy & 2

(1 74

21 23

(31
(4)
o)

b

F FE 2 9

e § wlen wew A el © Fo gen R
&
(1) 20,552
@) 16,552
3 17.552
(4) 18,552
I 76 3 =

e 9% 2022 - 23 % wEwn U wwe # FE & &
% =7 % fou gw s & R e Rife e
T

o
]

(&)

1) 968%
2 62%
(1) 5T%
4) 43%

(5) ¥ T T W

wid=w FEEW (2020 - 21) F FHER ghEmn 6wl
= I ¥ Tt & 0

f1, ¥ 235,707

(2) ¥ 185630

(3 % 190,950

(4) 7 2,90,630
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T 8 “ed g, @0 sgen” @ gy feee
g T e g
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How many Sub-Treasuries
Haryana according to the Haryana

Survey (2021 - 22) 7
1y 74
2y 24
(3 82
4 952
(5) Not attempted

are there 10
Economic

What is the total number of registered Atal
Service Centres in Haryana ?

(1) 20,5562

(2) 16,662

(3) 17,552

(4) 18,552

{5) Not attempted

What percentage of its total expenditure has
been allocated towards Agriculture in Haryana
State Budget for the financial year 2022 — 2023 ?

(1) 98%
(2) 62%
3 57%
4) 43%
(5) Not attempted

What is the per-capita annual income of Haryana
as per Economic Survey (2020 - 21)?

(1y ¥ 235707
(2) ¥ 1,85,630
(3) ¥ 190,950
(4) ¥ 290630
(5)  Not attempted

“Beti Bachao, Beti Padhao” was launched in
Panipat by

(1) Shri Ram Nath Kovind
(2)  Shri Narendra Modi

(4 Shrer Manohar Lal Khattar
i4)

15l

Shri Kaptan Singh Selanki
Nol attempted
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(D 19mad], 2006

(2) 199, 2005

(3) 19, 2006

(4) 1'J:|1‘él'1 2005

(5) I A ¥ e

garn # afafie wrdl 6 wga  few ¥ B 1923

A wEu g & w e el St i’
T i 2

(1) 37gE TRER @

(2) T4 gaWw

(3) ufsa Jhm s

(4) WS

(5) I E & 9
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BT US H® __ weg @ weEie R g
(1) s

(2) FF W

(3) wfeTs

(4) ehE

(5) 3T TET < e
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yE 9 ¥ foRg arew @ fom o @ 2

(1) 4Ed o H

(2) Bt F FEN W

(3) TAFIAR

(4) fomm & TR R

(5) T A AT A

efearen @1 A e guel (et A T w§)
¥ fom afeg 8 7

(1) dEER

(2) TEAM
(3) &

(4) =L

i L e A

11.

12.

13.

(5) Iww Al E0OAE

14.

15.

wLadli Social Security Alowanco SLEEME w,

launched on :

(1) 1% January, 2006
(2) 1% January, 2005
(31 1%t March, 2006
(4) 1% March, 2005
(5) Not attempted

Who founded the ‘Zamindar League’ along wi
Fazl-i-Hussain in 1923 to spread the reach of th,

Unionist Party in Haryana ?
(1)  Abdul Ghaffar Khan

(2) Rao Tularam

{3) Pandit Nekiram Sharma
(4) Sir Chhotu Ram

(5) Not attempted

The famous writer Dharnidhar in his bek
Akhand Prakash addreased the State of Harvana
with the word

(1) Aryana
(2 Kuru Jangal
(3) Haritanak
(4) Haribanka
(6) Not attempted

On which occasion is ‘Khoriya', the famous d*
form of Haryana most commonly perform&d ?

(1)
(2)
(3)
(4)
(5)

In the month of Saawan
During Holi

On child birth

On the occasion of marriage

Not attempted
o (g sl
Which district is famous for ‘Surahi &

necked pitcher) in Haryana ?
(1) Fatehabad

(2)  Gurugram

{3) Rewari

(4)  Jhajjar

(6) Not attempted

"
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16. wiewl &1 w83 - qieh Rew, sRamn % fRe |16, Morni Hills, a tourist attraction point, is situated

fored o fewra 8 2 in which district of Haryana ?
S (Ci - (1) Charkhi Dadri
(2)  SEE%En {2) Panchkula
@ g (3} Jind
(4) 3N (4)  Ambala
(5) I AF & IR (65)  Not attempted
17, Ut it sreg ot s g s 29 17. Where‘ia the Rajiv Gandhi Renewable Energy
(1) Br Park situated in Haryana ?
g - . (1)  Sonipat
(2) Panipat
- (3) G‘I-'I.\‘:gm,m
(4)  wiEmEeE
3 (4) Faridabad
8 I TE ?ﬂ'ﬁa

(5) Not attempted

18, Mvnﬁaﬂrﬁsﬁﬁm%:ﬁwrmhht 18, Thehighestelevatedamaufthaﬁraw]]ihﬂlsin

(1) W e (aw ) _ Haryana is :
(2) gt &5 uEfeai (G fi=m) (1) Mewat Hills
) =g =S (F0E ) (2) Dhosi Hills

4) Trwn 1 e (R fiem) (3) Karoh Peak
(5) = - 2T =y (4) Tipra Hills

(5) Not attempted

19. =W 1 39 ot = oo shww B  afia '
E il 19. What percentage of the total land in Haryana
1) 81% _mmesuuder agriculture ?
(9) 70 (1) 81%
3 76% (2) 70%
P (3) 76%
(5) 3 T 7 et = e
(5} Not attempted
20. #fEmn 7 F v wmm v A AT
A (smgfd) i w
e B 3 w0 ) 20. The first Grain ATM (Annapurti) of Harvana
® < ':E’rlt}utc has been et up in which district ?
o 39 Panchlula
I (2)  Sonipat
(3) T
“ (1) Gurugram
- Rl SIEL i i4)  Yamunanagar
g ) I AE é.:" EIEG] (6)  Not attempted
ARAMI/C3/Page 5

1% & & T vam | SPACE FOR ROUGH WORK



21.

L]
)

23,

24,

25.

e B IVI"-‘::-'IHIII ‘-‘I‘-‘HF

gheon & fm ger s a) ‘sRanvid) fggr’ & am @ of

Sie i

(1) TEan

(2 T&Wm

@)

4 T

B I A & EEd

e 3 4wl BRI BRET A A S o o

(1) =fe 29

(2) T et

(3] ﬁﬁ:ﬁﬁ?

(4) g9l FuR

(5) I 4 & =my

wm & o Areh ek afen e R a3

g7

(1) #eafm

(2) =

(3) To=fcammam
4 =

(5) 9 T o=

Pt & 3 eharon 3 e =2 9w o

% &3 T 2022 % gy A WA v e o
(1) TEg da

(2) w = Hem

(3) =3 =

(4) 39 T i

(5) I T & =

T H R R 6wy s

21
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Which dance form of Haryana is ag, k'lnum
‘Haryanavi Gidda’ ? %
(1) Ratwai "

(2) Swang

(3) Gugga

(4) Jhumar

(5) Not attempted

Who among the following
‘Haryana Hurricane' ?

(1) Kapil Dev

(2) Mansoor Ali
(3) Vijender Singh
(4)  Sushil Kumar
(5] Not attempted

iE I':nn'W'I] as .u‘_

Nirmal Gulia from Haryana is asso
which sport ?

(1) Handball

(2)  Hockey

(3} Gymnastics
(4)  Judo

(5)  Not attempted

ciated wig

Who among the following personalities fim
Haryana received the Padma Shri in 20290t
field of Social Work 2

(1) Raghuvendra Tanwar

(2)  Moti Lal Madan

(8)  Neeraj Chopra

4) Om Prakash Gandhi

(58)  Not attempted

Gugga Naum;
Haryana in s ’
(1} the lunar month of Phalgun
(2)  the lunar month of Karti
3)  the lungy month of Bhadon

(4)  the lunay month of Shravan
{E_NM attempteag

festival jg celebrated all o

——
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26. Rearrange the following parts of a sentence |Read the following passage carefully and anster
labelled as PRRS to make n meaningful quesfions 28 30 and 31,
bt Tl A T . ' .
I i Street theatre in India is a well-established
b 3 g Ol 13 g Dlessimg d K .
e POwEr towers 150 _ }' ancient art form. Despite the proliferation of
Q. let us realize that the privilege modern  means  of  entertainment and
B. the love of work is suceess communication, street theatre continues to
S, toworkis a i, the flourish in India.
1Y QRPA Street theatre as a channel of communication has
7 SRPQ for centuries been propagating reforms by
& GSPR highlighting social, economic and political issues
. present in the society. Unlike in the olden days,
(4} PSRQ its performance is ng longer restricted to villages
(5) Notattempted or small localities of the city, They create or raise
awareness mrer‘ 4 particular issue of public
27, Choose the correct passive voice form of the importance.
following sentence.
Sl sadadio 29. In olden days, street theatre villages
o or small localities of the city.
(1) e requests to bri ; :
req you to bring a cup of coffee (1) enbertalind
'2) You are requested to bring a cup of coffee. (2) was restricted to
'd)  Let a cup of coffee was brought. (3) was not restricted to
‘4, Leta cup of coffee be brought. {4)  was opened to
'5) Not attempted (6)  Not attempted
28.  Pick out the part of the following sentence which [30. Modern means of entertainment and
has an error. If there is no error, your answer is communication street theatre.
f4), (1) helps establish
One of the state in which (2) does affect
A (3) does not affect
- 2 e t Y . "
Satyagraha was offered was Rajkot (4)  helps popularise
B (5} Not attempted
where he spent his youth. . ; of
1 A3Lg'd U
C 31. Sireet theatre usually W18
public importance.
(1) B
: (1) does not deal
(
(2) C (2)  is distanced
@) A (3) s performed
(4)  No error (4)  deals
S ——_ RK
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el L]
Choose the eorrect alternative to improve {he

underlined part of the following sentence. I gy,
mmprovenent is required, your answer is (4],
Don't judge each day by the harvest you reap by
by the =seeds t_'_r_'u_ajﬂr_lnut ing

(1) that you plant
(2 that will be plant
3" when you plant
4} No improvement

151 Not attempted

Fill in the blank with the suitable Preposition
The boy
(1)
(2)
(3)
()
(3)

red hair is my brother,
from

of

for

with

Not attempted

In the following sentence, a word is underlined

HIT

37.

38.

Pick out the correctly spelt word.

(1) mnuisence

(2) privelege

(3)  familiar

(4) usualy

(6)  Not attempted

Pick out the antonym of the underlineq

W
the following sentence. .

A little learning is a dangerous thing.

(1)  smooth

(2)  innoecuous

(3)  devilish

(4) plain

(5) Not attempted

Pick out the synonym of the underlined wy;

Beneath the sentence, four different v f the following sentence
phrasing the underlined word are i'.rld:‘ti:tel The child longed for the mother's love.
Choose the best alternative among the four, (1) refused
“Despite losing a lot of money in the stock market S
crash, Suresh remained unphased ” (3) shouted
(1) unfizzled M @ fell
(2) uni:azed (5) Not attempted
'T'f unfaced
(4) unphazed 39.  Pick out the correctly spelt word
(53} Not attempted (1)  intitutionalize |
35. Find out the correct indirect speech of the| (2 intutionalize
following sentence. (3)  institutionalize
She said to her father, “Will you give me (4)  instutionalice
sweets” 7 (5)  Not attempted
(1) She has asked her father if he would give
her sweets, 40. Pick out the correctly spelt word.
(2) She requested her father to give her sweets. (1)  suggession
(3) She requested her father if she would give (2)  sugestion
her sweets, (3)  suggestion
(iu She asked her father if he would give her (4) suggesstion
sweets.
(5) Not attempted (5) Not attempted =
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(1) FWH 3 @I ™ — T
fore T e w3 faeit e fi |
(2) 31 W A § w5 T — At (1) wEFm
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() i
(4) vEd F W 69— s ——
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(1) ==
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(3) oM @ g
(4) e (4) T
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W BT w2 3 e b - 48, ‘ade # i A g
() g o N
2 W - 211
(3) wf % wEm i
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(1) e T §I S
(9)  WaR HATHRS YR dE
(3)  3TYUTH AT HURO

(4)  ATETY HHEIEH ST 9
(5 mﬂﬁ&m‘ﬂﬂ
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TR & g & W R om0

(1) 30 UG

(2) EIw 9

tﬁ) Yeomds 9Ty

(4) THE g

(5) I AR A1 =
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T TEER 1 T I A ey |
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52. hﬁﬂﬂhﬁﬁﬁﬁmiﬁﬂmmﬂmﬁg|

(L) =0
(2) H=
E‘II-!.} =m
(4) =&

i5) e # = A1EA
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(5)

(1)
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(31
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36.

Feal @ e @1 go o @l @) wen wad ge am vk
difig f afde w0 & Slw@ Pead o no e
# fasera/fmad 8 )

FHT: @ N il @ | .
e Hital gem 8 |
wfl we Fat §

eV () FoeHidwE | ¢
ID 5o = Hfdai 8 ) -
(WD) F8 vein it § |

() FEe I e

(2) e Il I e

(3) e 138 11 e ¥

\4) FEE IS 10 Frepery #

\9) I FE I =y

el % & #a i 4 o
{1} g, 18, 27

(2) 6,918

(3) 7, 14, 21

(4) 8, 18, 24

(5) IR 0 =R

| -

) I E ey
AMICage 17 —————
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Three statements are followed by three

conclusions. Take the statements to be true even

if they seem to be at variance from the commonly

known facts. Decide which of the given

conclusions logically follow(s) from the given
statements.

Stutemelﬁts : Some tables are chairs.
Some chairs are beds.
All beds are rooms.

Conclusions : (0 Some rooms are tables,

(1T} Some rooms are chairs,

(IIT)  Some beds are chairs.
(1) Only1n follows,

(2)  Only I and 111 follow,
(3) OnlyIand1r follow,
{4)  Only II and 11 follow,
(5) Not attempted

Find the 0dd one out,
(1} o9, 18, 27

(2) 6,918

(3) 7,14, 91

(4) 8, 16,94

(5) Not attempted

Pninting out to g |
daughter of the we
husband of my mao

(1)  Sister
(2] Aunt
(3)  Daughter

ady, Raja said, “She js the
man who is the mother of the

ther”, Who is the lady to Raja ?

4)  Sister-in-law

(6} Notl attempted

tfm ROUGH WORK




59,

60.

61.

62.

ARAMICHIPS

Prafsfian woft § san of 399 ven e fag o #

1 = ' '
SR E|K|F—' M 1-‘.!:«'";'
e i TN 2 ' 4 | 7|9

A wg ud omar & s feafafaas 8 4 @
fa®en ‘EMRS &1 udl $edg &9 8 |

L1 19375
L:%.'i 1793
(37 1973
4y 1925
(5) IR E I =

% =9 9es P8 ‘Q T a% 5 Aew-IAe wE F
" H A 2 | 98 Q9 ‘R’ U 3 IAeFI-AeN ®e a9
R WS % 2 AT 2 F I H A-an & | T8
P Y S A o T & w1 0 JHar § 7

(1) 16

(2) 10

(3 20

(4) 30

(51 =T A8 & 9

53 fr o Wz A F AN W T AT

= w= w1 A i |
CONSOLIDATE
(1) DETAIL
(2) NASAL
(3) LOCAL
(4) LENTIL _
(5) e T =m
i MANGO £ 13114716 F ¥ |
i hﬂ:&*jz—;?t A1 =z FE AT § FIGHT
F7dg . '
gwr @ FeAG Ao ?
1) ﬂ'?j'iﬁzr_p
(2} BaGHE1Y

69,

() 6GITBIY
(4 G9THZ0

st ARl Al <rRd
i) a0 .

e 12

61.

Letters and their number codes are given

following table : %

| Letter 'E]X‘Pﬂmﬁ‘é"rﬁ'
Number Code | 1 | 2 | 4 | T 9_ _3__i =__
You have to find out which of the altema_ti;as
has the correct coded form of ‘EMRS'.

(1) 1937 '

(2) 1793

(3) 1873

(4) 1925

{5) Not attempted

A bus driver knows five different routes from a
place ‘P’ to ‘Q". From ‘Q to ‘R’ he knows three
different routes and from ‘R’ to ‘S’ he knows two
different routes. How many routes does he know
from ‘P to 5 7

(1) 16

(2 10 -

(8y 20

(4) 30

(5) Not attempted

Find out the word which can be formed by using
the letters of the given waord.

CONSOLIDATE

(1) DETAIL

(2) NASAL

{3) LOCAL

(4 LENTIL

ip) Not attempted

5i in code

30 i 9114715 in a certain co

If MANGO is coded as 1311 i .
language, then how will FIGHT be coded in that

same code language s
(1) 697620
(2) {oEs19
() GaTR19
4y GHTEI0

(651 Mot '=l1.|-ln‘l1-1l"“-"~_1 S —
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T ™ AN

srafedd fobe e @ U weleh eg @HEN A1 HE

T-‘H
63,

Seleet the combination of numbers sn that the

arranged accordingly will form 4
meaningful word :

letlers

NTERONM
NTEROM
1 2 34 5 @8
2 34 5 6
(1) 6,5.4,3,2.1 1 &
@ 2,5,6,3.1,4 (I 6.5438431
y (2) 2,5,63,1,4
D 63.2,1,4,5
* (3) 6,3,21,4,5
(4 6.3. 1,2, 5.4 HegnT oM (4) &3,1-12 5 4
(5) FFES & e (5) Not attempted
¢, PR sRm R imd? 64. Find the odd one out.
(1' ZERO {1) ZERO
2' CARE (2) CARE
(3" PALE (3) PALE
(4} STAR (4) STAR
&) T Wﬂﬂ (6) Mot attempted
65. & wé fawey w = i Bl e = dwt 65. Choose the correct alternative which is related to
ﬁmﬁr{étﬁﬁmﬁﬂﬁﬁ@nﬂaqﬁmﬁ the third term in the same way as the second
i term is related to the first term ;
2 - - e 0 Sheep : Lamb : : Butterfly : ?
1) o (1) Nymph
) 2 i
(2) TEFw I i B s
@ (3) Larva
_ (4) Caterpillar
@ w (6) Not attempted
(5) 39 T2 2 =
66. Choose the correct option in which two terms of
" awﬁﬂﬁﬁ?ﬁﬁmﬁ'ﬂﬁw%ﬁﬁﬁ the pair are related in the same way as in the
: ‘W{ﬂ’“ﬁmwﬁmm; pair given below :
A;By:CyD, A;By:Cy Dy
l"I] G15 Hl-ﬂ-: Il']" J]_B {_1} Glﬁ Hlﬁ :IITJIB
@) WyXg:Yq2y (@) WyXg: Y%
3 PigQi7:RygSiq () PrgQq7:RygSyp
"4 My Nyp: 0Py, (4) My Nyp: 0Py
h‘___"ﬁ_jl T = 2 A (5) Not attempted R ——

% T % fem T4 | SPACE FOR ROUGH WORK



39.

T0.

L L T e T
8 -‘%_tﬁmq'ma%mu-q—.zﬁafn&a’rﬁ |a¢qﬁrrrﬁni"t-;
"9 ﬂ_wr 2 A faees weff sin wR W AS1 R AW ang
BHA & gy 38 34 Rigfhm & auaad gy

LA dﬁ{ am

FHet 3l am
(3 qehar 3 #ue
(4)  Yaha 3R am
(5)  FwR & T =

“meﬁﬁﬁiﬁnﬁﬁi_ﬁml

a9 4§ -

(1) T 0% T0F 8 g TIM W qHH TA9 sadia
&1 |

(2) @9 fiEl & |19 g o |

(3) TBars % Oiemfas sigar gmifrs 9w w1 qar
AT | ;

(4) IR &1 3R s i Sfmm I e = A

- '

(5) IR &l & =rEd

Frefafis gen e # v fag () & WA W
- FEm A ?

99, 80, 63, —?—335;,24;15; 3,5 3}u

42 :

28

(1)
(2)
(3)

70.

14, 19, 35, 59, 7,179,299
(1 129
r2; 131
r3) 130
t4) 132

Ll =1 ARA |

rnJop.in-
67,

Iive porsons are sitting in a row fﬂ-C‘Lng L.Or
Sunita is sitting to the immediate ﬁﬂt!.:
Pankaj. Kamal is sitting next to Raja Why
sitting on the extreme left and Tara is not st
next to Kamal, Who are sitting adjace,
Sunita ? '
{1) Raja and Tara

(2} Kamal and Tara

(3) Pankaj and Kamal

{4) Pankaj and Tara

{6) Not attempted

When you visit any historical place, you try ta:
(1) just pass time moving from one place

another.

just enjoy with your friends.

éxplore the eultural or social aspect of |
design.

take pictures and enjoy a break from
monotonous life.

Not attempted

(2)
(3)

(4)

(5]

What will come in place df the question mark
in the following number series ?
99, 80, 63, _? _, 35, 24,15,8,3,0

42
38
58
48
Not attempted

(1)
(2)
(3)
(4)
(&)

What will come in place of the question mark |
in the following numerical series 7

14, 19, 35,59, _? , 179, 299
129

131

130

132

Not attempted

(1
(2)
(3}
{4)
(5)

(5)

& _'I‘,:ﬂ‘f

K

RA rd;_r;i}P_a:;;1:-_ B  y @ @ e T | SPACE FOR ROUGH WORK
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73.

T ™ AN

. qﬁmﬂﬂﬁnﬂauﬁﬁﬁulélfﬁmﬂﬁﬂq-wﬁ Y
ah M7
(@) & T 9 & wgd gu Rl o dm @ st
71 9% i Fard B 7@ P |
(b} TEH TR W T RSN 4G W AW R
© T FS v A lg () F ww g @ |
= fRr T g # e fweg w99 A
(1 FE (o)
I.:';:} (a) T (b)
(31 (b)) 9T (c)
4) & (a)
&) I I

w5 95 3 §Fe # 9 e vt R of o 5 A
23 ¥ it gt 7wt § | W wg B sitwa 0y T
it 2
(1)
@)
@
@)
(5)

6 Wizt ufy s
8 Wizt uft ¥5s
477 9fy B
5 HTet 7fd Bee
I E A

o St feaw, 2022 91 rvaaeg Fm 2 9

(U “Reg vt @ 30 : S w3
Ko wEm % fory Afv

‘o Wit @ gg
e wg”

“mﬁaﬁh@ﬂﬁ: T AT |
0 g et HE %

@) :@ﬁqﬁwﬁﬂ;m

(3)
'4)

5

IVI"-‘::'IHIII ‘-‘I‘-‘HF

71.

74.

e i L e

Which of the following statements isfare correct

about Apical Meristem ?

(a) It is present at the growing tips of stems
and roots and increases the length of the
stem and the root.

Due to this the girth of the stem ar root

' increases,

(b)

{(e) It is seen in some plants and loeaterd nour
the node.

Choose the correct option from the codes given
below :

(1)  Only (c)

(2) (a)and (b)

(3) (b)and (c)

(4)  Only (a)

(5) Not attempted

An object travels 9 metres in 3 seconds and then
another 2_3 metres in 5 seconds. What is the
average speed of the object ?

(1) 6mfs

(2) 3mis 34
@ 4ms .
(4) bHms

(5) Not attempted

What is the theme of the "World Ozone Day’,
2022 7

(1) “Delhi Protocol @ 30 - Protection of Life
through Global Cooperation™

“Rio Protocol @ 36 : Global Cooperation for
Protection of ozone”

(2)

(3) “Montreal Protocol for Protection of
Ecology”

(4) “Montreal Protocol @ 35 - Global
Cooperation Protecting Life on Earth”

(5)  Not attempted

HTTPS is an acronym for , which should

be used while entering sensitive information.

1) 7y & S
" I"’p'_" W ATHIA Hirdn (1) Hyper Text Transfer Protocol Sequence
SR <H T AR fin (2)  Hyper Text Transfer Protocol Secure
3) wmm 2 il et i {(3) Hyper Text Transmission Protocol Secure
i:} i gt drraia i - LE::::rm , Text Transmission  Protocol
— ,J 5 g L b
F.Rﬁ.‘h;;{:mpm oL ?m_-al?ﬂ e === (6) Notattempted =
we T @14 & {0 vuna | SPACE FOR ROUGH WORK




75. @ 1960 # ToR@ R WEWE AWE & AU U}

LR A F Pd'[" Frafafga o @ B o= =) al Wi bifurcated to create two new States of Gy i
H &t man oy 9 v

and Maharashtra ?

76.  Which among the following States in 19g; .

(1) 0T
27 "ne

{1} Nagpur

(2) Bombay
(3)  FENZETR (3) Ahmedabad
) T (4) Daman

(5)  Ia FE A 9Ed (5) Not attempted

76. fo=fafigs 2o & 3, ofgenadt ! wag@ 51 Af=wn 24|76,  Among the following countries, which was y

TN i W w7 last country to give voting rights to women ?
(1) a3 (1) Saudi Arabia

2 =@F (2) China

(3)  ufeEaE (3) Pakistan

4 A Mo

p——— aTs%l (5) Not attempted

77. With whom is the Cash Res Ratio (CR
Tz wfE s (Fsemn.) w s T e e - ioetn

=1
=l
.

M kept ?
Gt (1) Finance Commission of India
Il: :Z :::ﬁ - qﬂﬁ (2) Comptroller and Auditor General of India
{3) Reserve Bank of India
) W Tt S (4) International Monetary Fund
(4) Hﬂﬂﬂ; 3': :a _ (5) Not attempted
(5) I S '
| 78. Which among the following countries ranked -
mg, TaeAfefad Ha e oA “zaR @A N WEA 5 highest on the “Ease of Doing Business” Index
mmﬁznnﬁﬁmmmﬁﬁm!? 2021 7
(1) W (1} Portugal
(g, WA (2) India
{3y = (8) China
r; , AT (4) New Zealand
S _TﬂJ a#l 24 m_‘l_ﬂ_ (6) Not attempted e

A@M;prage 8 % w14 @ T#10 T9TH | SPACE FOR ROUGH WORK



79.

B2,

e M o
Rﬁwﬂmpagg 17 e

3@ |ifen aral aflst ik & Amoen ® o) oA | 79.

£ A 78w gl &1 G HE o 39 w9 @1 w
39! sigen-aget & wafifa & ¢

<y (3)

forctem @id

T w7

que "1

I A€ &1 =

(1)
(21
i3
(€1l

5l

Feforfa § & #95-a Seadh Iwwn 2o 32 @ sy
T (wgw) Frenremn @ si @ anfer 4 Y & R

maﬂaﬁ?ﬁmmﬁr{mﬁmmﬁ
et d 2 9

1) TS
k?l G|
(3 fa=
4 =T
(5) I 7d T =y

Frfofen § & fow fes § iy Mg wh swe
R T A (99 o
(L) qﬁthﬂf&aﬂwmﬁm

(2) ﬁmﬁaaﬁ—ﬁ-ﬁmﬂmm

(3) ﬁﬁtfﬁu,jﬁ-{ﬁaiﬁm

W WS et e, ke i, et
(6) 3% 4 2 vy

Y T i

I TH = oy

B1.

B2,

T T % fem v ) sPACE FOR ROUGH WORK

What is the name of the sorting method that

refers to sorting a given list of clements and
swapping them if they are unordered 2

(1) Deque

(2) Belection Sort

{3) Insertion Sort

(4) Bubble Sort

(8) Not attempted

Which of the following network device extracts
the destination address from the data packet and
looks it up in a table to see where to send the

packet and sends signals only to selected
devices ?

(1)  Gateway

(2) Hub

(3)  Switch

(4) Router

(5)  Not attempted

Which of the following options lists all devices
used for output from a computer ?

(1) Flat panel display, Plotter, Barcode scanner

(2) Laser printer, Optical character reader
Flotter

(_3} Laser printer, Inkjet printer, Scanner

(4) LED display monitor, Inkjet printer, Plotter

(5) Not attempted

Which of the following
tectonic activity ?

lakes is the result of

(1)  Kolleru Lake
(2) Sambhar Lake
(3)  Chilika Lake
{4) Wular Lake

{h) Mot attempted
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5.

B3,

ERAMICAIPage 18

foafaflad § & @@ weg wndbn adfaa 6
Qa8 428 |euA gRT 1976 0 Ald v 7
At HuaAad)
N ed - TaE
AldhdIcH®
gufams
2 fiu e e & @l Reey o =ad Hifa

oae o)

&a@e (b

a) FE e

B e Tl | b

(30 I E1 &A1 STEd

i T & ufenet w1 dww sialEE, 2006 %
== &, ey § 4 S9-S5 a@d 777 2 2

1w wiutEm A v w1 ot B o T

TEAE |

2, == wuFEw agensl Hit e 9o Tk
Fraor 21 B GUT O R |
3 7% wful Faa daifis dedi w1 e g g

7a7 ‘Fera-s wayl 1 Hrr e A6 g |
‘4) Tz AMuEm wAiGE wme w5 9 fEa W TE

TEE HEAT 2 |

(5) IO Tl ZA1 =@

s mEEam G (vRHLE.) WeE Us W%
s AT £ 23 faTer, 2022 %) G99 89 9l
g Faw HEl Arntaa £ g A 7

| HEATAT
A AT
4) AT
4)

(5] 370 w@ 20 =R

B3, Which of the lollowing word/s was/were arddeq
the Preamble of the Indian Constitution jn 1y, |
Lhrough the 4299 Amendment ?

() Soeinlist

fh)  Sovercign

() Democratic

id)  Secular

Choose the correct option from the codes gy,

bolow :

(1) (a)and (d)

{(2) Only(h)

(3} (a)and (c)

(4) (c) and (b}

(5) Not attempted

B4. Which among the following statements is noi
correct with regard to the Protection of Women
from Domestic Viclence Act, 2005 7
(1) Sexual abuse is considered a form of

domestic violence under the Act.

(2) + The Act protects women from both physical
and verbal abuse.

{(3) The Act does not extend to ‘live-in'
relationships and only covers marital
households.

{4) FEeconomic abuse is considered a form of
domestic violence under the Act.

(5) Mot attempted

85. Where was the 20th meeting of

Prosecutors-General of the Shanghat
Cpoperation Organisation (SCO) Member States
held on 2374 September, 2022 7

(1) Astana
i2)  Tokyo
{3) Tashkent
4) Kiev
(b)) Not u.tlmngt_.__t'_tj_ . "

T fﬂw 414 | SPACE FOR ROUGH WORK



r

6 ﬂaﬁm[ﬁmm%:

(1) 50%
(@) 25%
9 35%
(4) 40%
(5) T & e

. af el wwoft w 7%%311%&% 15 A/ =
grane s, IE el W lﬁla'ﬁaﬂﬁ'-ﬁﬁﬂ 8 W

$ T =0 W ¥ 32-50 U B, @ wAuly (7 #)

B

(1 3,250

(2) 3,000

(3) 3,060

(4) 3,120

(5) I A &N =

88. ATH %M W 15 Fq # qun B 3 = = 20 B &
T wha ¥ | 3 2 I e w4 R

T FAE, T Rew A w s g o

n 2
15
@ 1
4
-
10
-
15
) W 5 T wm

& S % o qa daee & 5 - 9 &

T R A g aw e w3 2 9 sEaw

IVI"-‘::-'IHIII M‘IVHF

gawR < 10 % maéwaﬂa ﬂ‘ﬂ-’;:liiﬂlt T 15% Wy

B87.

e i L . e i L

BG. Oranges are bought at b for ¥ 10 and =nld at

6 for T 15. The profit percent i= .
(1)  BO%

(2) 26%

(3) 36%

(4)  40%

{5) Not attempted

If the simple interest on a certain sum for

15 months at 'Ia;—% per annum exceeds the

Bimi:le interest on the same sum for 8 months at

12 E% Per annum, by ¥ 32-50, then the sum (in
T)is:

(1} 3,250

(2) 3,000

(3) 3,080

(4) 3,120

(5) Not attempted

A can do a work in 15 days and B in 20 days. If

they work on it together for 4 davs, then the
fraction of work that is left, is :

@ %
@ %

g %
@ L

(6) Not attempted

The ratio of length and breadth of a rectangle is

HAUT _‘E [ 3 : 2 respectively. The ratio of its perimeter and
mﬁm (e #) 2 . area is 5 : 9. The breadth of the rectangle (in
(1) 13 metres) is :
2 8 (1) 13
3 8 T *
! : ‘
(5) Ed
! :R:“A--__}_mwh (5) Not attempbed
MiC3/Page 19
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M,

a1.

T ™ RN LI

plop doan A p & auE

él III 'h‘l"i"-l

i l]+!.:.'f:!+!:’.l
| 2 1

T}

(1 6

(2)

@ 4

4 5

(5) I T &1 =

T TSF B TH WS I 25 H o7 A Y Hwy 04y |
TR 8, 31§ W 52 F om e R Rl se
TEEE, F@ TGS ¥ 324 3fE W wem | Tom
w1 T T o

(1) 52

2 12

3 15

4) 25

(5) IR & &1 = TEA

A n wE wHa dem ¥, @ whdEd wen
FH-41 & fawd (n? - n) w3 Rwfm 2 2

1) 18

2) 3

(3 6

(4 12

(5) I 8 2 =med

y,(x+3}.%miﬂm y=337’ﬁ x=1%1
x=2ﬁ3ﬁ’m‘yﬂﬂﬂw%?

(1) 16

(2) &

(3) 10

4) 12

el L

HII'.

91.

92.

93.

e Y P 2001

If [pl denotes the greatest integer less than or
equal to p, then

t EJJ g]nz]

is equal to :

(1) 6

2) 8

(3 4

4 5

(5) Not attempted

A boy was asked to multiply a certain number by
25. He, by mistake, multiplied the number by 52
and got the product which was greater than the
correct product by 324. The number to be
multiplied was :

(1) 52

(2 12

(8) 15

(4) 25

(5) Not attempted

If n be any natural number, then by which
greatest number is (n? — n) always divisible ?

(1) 18

(2)

(3)

(4) 12

(6) Not attempted

v varies directly proportional to (x + 3) and y = 8
when x = 1. What is the value of y when x =27

(1) 16
(2) 6

(5 10
4y 12

(5) Not attempted

(5) I 7 231 =mq

ARAMIC3/Page 20
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T ™ RN IVI"-‘::-'IHIII M‘IVHF e i L -

o4, TH QU AR ¥ QU ¥ H@ wrht Marn Rrad 20 fym ) | 94,

A milkman mixed some water with milk to
9 e WA W 25% @9 R | W A s urd

Eain

26% by selling the mixture at the cost price. The

m@ﬁwﬁ Wt , ratio of water and milk, respectively, in the
mixture is

1 1:4

2) 5:4 (1) 1:4

@ 4:5 (2) b5:4

4 1:5 (3) 4:5

\5) I AEH T 9 4) 1:5

(5) Not attempted

5. WA URAA AR I 2 3#.a. wfa

ﬂmﬁnﬁ%ﬁﬁﬁmmm% | ¥ ¥ ymet | D5, ﬁhusmm'ing&taspeeduf24mfsbegin5 to slow

a‘gﬁ'ﬁ:ﬂ@mm%ﬁ? at a rate of 3 m/s each second. How far does it go
1O 9ew. before stopping 7

@) 487, 0 o

(3) 607, : " =

@) 72t | , 2l

(5) ¥ T T =R - Bn

(5) Not attempted

96. AT T 85000 7MW # v = A | ge
o F M T 42,500 % Hig B 30 =R § fim | 96. A began a business with T 85,000. He was joined
™| gl o F e - 3:1% I 1 5t aﬂ:erwardahyﬂwith T 42,500. For how much
T, A BT Ry ferw T = 0 period does B join, if the profits at the end of the
& e year are divided in the ratio 3: 17
1) 8 month
(2) 49m @ ?
(2) 4 months
(3} 59w
(3) b6 months
(4
) 6umg i4) & months
(6) I 78 & 5 (6) Not attempted
e ———
ARAMIC3/Page 21
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97.

100,

LR L -yanae ‘-‘I‘JHF

uw sufh sl sl &1 75% @ e B | aad
aedt 209% @Ag m.ﬁ‘]!ﬂ’lﬁ'ﬁmﬁﬂﬁﬁ‘ﬁ 10% &Y
Al o R | ud) a9 ¥ a@ah goft .

11 a0%

(2y  10%
O 3

'._.';-lI ot o

8y 87 L

\5) I a8 21 e

s Wi sEwasl 6 et d 15 e w, e 23
st 2 1w T ogEh d 1 feR w, deneit # e
18 w2 ol @ | awatas g2t O oo et demd ¥ o
(1) 8
2 4
3 5
(4 6

(5) I A 2 =

®: HETd a, b, ¢, d, e, f 30 THL & T ab = 1,
be = %,cd=ﬁ,de=27ﬁ1ef=%ﬂ | (ad : be : cf)
HHA TR ?

(1)
(2)

72:1:9
4:3:27
() G6:1:0
(4) B8:9:9
(5) 3w T 20 =rEd

A F1 Al 5%, B i AW % 15% % aoen #
dr B # wmEA w1 10%, C 1 wmeht F 20% #
T 2 | afe C i st € 2,0008, @A, BANC
£ e @ arEa (T H) R

18,000

6,000

9,000

12,000

I ¥ 2 =Ed

1)
(2)
(3)

(5)

Ve Tt

7.

99.

100,

LR

e Y P 2001

A man spends 75% of his income. His incop, i
increased by 20% and he thus also increaseq his
expenditure by 10%. His savings increased by .
(1) 50%

2y 10%

(1) 2%

1
4) 37-%
(4) 2

(5) Not attempted

When 15 is included in a list of natural numbers,
their mean is increased by 2. When 1 is included
in this new list, the mean of the numbers in the
new list is decreased by 1. How many numbers
were there in the original list 7

(1) 8

(2) 4

(3) 5

(4) 6

(6) Not attempted

Six numbers a, b, ¢, d, e, f are such that ab = 1
bc=—;-,cd='ﬁ,de=2andef= i

a

F

. What is the

value of (ad : be : ef) 7
(1) T2:1:9
2 4:3:27
(3) 6:1:9
(4) 8:9:9
{6} Not attempted

5% income of A is equal to 15% income of B and
10% income of B is equal to 20% income of C.
If income of C is T 2,000, then the sum of the
incomes (in T)of A, Band C is ;
(1) 18,000

(2) 6,000

(3) 9,000

(4) 12,000

{5) Not attempted

ARAMICS/Page 22
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